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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. The question paper consists of two parts i.e., Part A
and Part B.

3.  Answer any four questions from Part A and any two

questions from Part B.

4. Answers may be written either in ‘English or Hindi;
but the same medium should be used throughout the

paper.
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PART A

AW U

1. (a) Let budget line be given by Px.X + Py. Y = It

income of the consumer doubles, Price of X also

doubles and good Y has a per unit of tax of T
imposed, write the equation of the new budget

line.
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(b) Derive the demand curve for two goods X and Y
with the help of Price offer curve while price of

X is changing and price of Y is constant.

(c) Show the optimal consumption bundle for perfect
substitute goods with the help of a diagram.

(5,5,5)
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(a) If both good x and y are bads, dray 80me
indifference curves and also indicate the

preference direction with changing income,

(b) Explain why convex preferences mean tha

averages are preferred to extremes.

(c) Explain why indifference curve is L shaped for

perfect complement goods. (5,5,5)
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(a) Draw price offer curve and demand curve for

good x, if good x and y are perfect complements.

(b) Show how a per unit tax on good x and rebating
the consumer by the tax collected will make the

consumer worse off.

(c) Derive the equation of MRS for perfect substitute

goods with the help of graph. (5,5,5)
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4. (n) Show using o diagram that if preferen,
€5 ar
€

quasilinear, (he entire change in demand jg g
15 due tg

substitution elfect,

(b) What are different methods of managing risks o,
SRS Other

han insurance?
l (10,5)
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5. (a) Using a diagram show certainty equivalent,
expected consumption, risk premium for a

consumer who is risk averse,

(b) A consumer is having (w1,w2) endowment of tW0
goods x and y. Explain the change in consumer’s
budget line if the value of her endowment

decreases. (10,5)
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PART B
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6. (a) Define Increasing, Decreasing and Constant
Returns to Scale and show how one can use

Isoquant map to explain each one of them.

(b) Suppose a firm has 150 workers and two
production piants. At each plant, the marginal
product of labor declines as the amount of labor
increases. Explain using diagram how the firms

will optimally assign workers between the two

plants.

P.T.O.
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(c) What is meant by factor-ncutral technical Change

for a producing firm? Explain, 93,)
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7.

(a) Bconomic cost of a firm is always more than its
expenditures on labor, materials and rental of land

and capital. Explain.

(b) Suppose a particular firm produces output using
labor and capital in fixed proportions. For given
input prices, how the firm will select its least cost
input combination? Explain using a given Isocost
line and Isoquant map. Now, if the input prices
increase then how will the firm select its new

input combination?

(c) With the help of a diagram, explain the relationship
between Average Cost, Average Variable Cost,
Average Avoidable cost and Marginal Cost in the

short-run.

(d) How would you interpret the marginal rate of
technical substitution of a firm for labor with

capital given as 39 (3,5,5,2)
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8. (a) Define Marginal Revenue. What will be the shape
of the marginal revenue curve if a firm faces

downward sloping demand curve?

(b) Using Marginal Cost, Average cost and demand
curve explain how the profit-maximizing quantity
is determined of a price taking firm with no sunk

COSts.

(c) “Isoquants representing the same technology

cannot intersect” Explain this statement.

4,7,4)

() aa o TR S @ R W W AN
ﬁﬁmﬁwvwwmwm%ﬁ

Td qoTed agh ol SR ST BRI 7

(@) AT FRE T STERT S §Y, ST AN SR A
o TEG 6 B B P R @ S A
Fftrehad o W ey & fog e @ FeiRa @
SN 2

P.T.O.



8§22 12
(@) ‘v & W w0 AREARE S A srdeiy
TEH-TW W WC G T GHS 87 6 FIT N we
ST

(2000)



